Arssammanstéllning 2010
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Méanad Nederbérd Snddjup (cm) Temperatur (°C) Vind (m/s)
mm [Nb-dygn Min Max| Min| Max| Medel| max]|dygn >10
1 30,9 19 30 51| -24,6] -0,4 -9,2 13,8 7
2 40,3 16 55 73| -28,4] -15 -12,7 16,8 3
3 46,9 20 68 85| -19,0] 10,0 -55 10,9 5
4 18,4 16 0 8l -46| 115 2,0l 10,6 1
5 28,1 14 0 of -41] 220 8,1 13,6 8
6 37,6 13 0 0 22| 27,6 13,3 15,1 3
7 33,4 14 0 0 6,1 29,3 18,3 13,2 4
8 87,1 18 0 0 49| 25,7 14,3 14,8 6
9 67,6 12 0 0 0,5 18,8 10,5 14,2 3
10 49,7 12 0 2 -39 12,7 4,4 20,5 7
11 32,3 18 0 7| -13,6 6,9 -2,5 19,1 6
12 33,6 15 7 22| -22,2 0,1 -85 14,4 6
Sum/max/
min/medel 505,9 187 0 85| -28,4] 29,3 2,71 20,5 59
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Vindstyrka (manmax + dygn >10 m/s)
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